EARAROBREBRT —5 XN—ZXBISH—F

20235 1286H (K) 140XH3H

I EEE B2= US5%—K

‘(fﬁ} W ‘I%EH?’JF&] ~ | & 10000 =

[AE$] 1 7%:2,700,000 F  237&:1,080,000 / 3&:

675,000 3 4 7&:405,000 F 5 3&:270,000

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ 3 . EEER 244, -7-8- . - IRHZ (IHE)
4 LBILY 6 56.OE R 1(4_4)0 8-7-8-8 | 40.0 2 (.TB?; —aa
R:O=IRA XA B:YvINIES— INE H—
~) b~ bl 144. -12-10- . - SR (KH)
EVUHYLYIR 4 5 e 1(74;1:? 12-12-10-9 | 39.5 3 (4357) e
RIAX—hT 7OV BIEVHYTPIELT it
< ENEEFSN 144, -4-4- . - INRIRE (GAFD)
h—t>=)L3 "SR ey | T © o s
Rib—tVISA b BINASVRIVR AR IRFAT7—L
~ )5 H o6 | REEZ 1:44.2 10-10-6-5 | 40.4 | — 1 481 | BERBE OKH)
294D 5.0 A o | nFPRAR-LT TR
R:FAWNITZFE— B:LwyII— FEHI7—L
JOU7AtF9— i o4 15“%’_'0'% 1:{1%.4 7-5-3-2 |40.4| - 4 (4&1) ggg E(/Nm
RINMVTSY B TUFATIT4— ot 3hEB
=~ 8 4 | ENEH 1:44.6 5-6-7-6 |40.6| — 5 496 | HEHPIEA (iA)

6171121 B3 VRD 54.0 ) () | SHEE

RiFvyvH /8% B:Y—F—7 (/) #HB8I1-RL—yavEEI 7
SR 4 5 | BIHE#R 1:44.9 1-1-1-1 |47 — 9 483 | WEHEZ (KH)

71111 [ NATSVR 54.0 a 3/4) (7) | IREBRTE

Ry d—F)LI¥I B:SwyI)LST BEALIBEKE
o BAIRIE : -13-13- - BRI (KH)

8 NEIYVIZENE o6 e (11415/22) 13-13-13-11| 40.2 13 (5_1_; 20
RiFVITHXNXN\ B:F—=3 /=3I r—1L
S i 6 | BREEK 1:45.6 11-11-12-13| 41.0 | — | 12 | 478 |idEF2 (IW)

917 M JvF ¥¢55.0 ) ) ht s
RUFIAVINT b BVHIY VRS

S P BREX 145, =7 . - FNEFE (KH)

10 5| BT HI—RBY v 5 arm 1(54/54)7 2-2-2-2 | 41.9 8 (4:320) %f;égc

RIAZHAT—RUTA B:HYIVHSRAL IS
—t~TS5 5 | BEXK 1:45.7 3-3-4-7 |41.9] - 7 | 4% |NRIRE CGERD)

1 5| b—EYTI3VT 56.0 ZE) ) | BllEE
R:Od=ILRYwT BEFYRNYF—5 AR IRFAT7—L
3y ~ o6 | BEK 1:45.8 9-9-9-10 |41.4| — | 11 | 484 |EBEEX (KH)

125|831 5.0 an) ) |BHE=
R:YO2I4 ISR #F:IZIIELY W& SHS

" o5 | EMEE 1:46.1 6-8-11-12 [ 41.9| — | 10 | 490 |®BHEHEL ()

13813\ 7AAAYN 5.0 1 172) (a) | EREE
R:O—RAFO7 B:HIVRFTN—K A5
S H = . 5 | DS 1:46.3 14-14-14-14| 40.5 | — | 14 | 490 |HBHBE— (&)

14/8[14| ZATYTH= b 5.0 7d) o) | (B e
RIIART—ILYF— B:YZT—TTRb AU

@ 11— —BRIEfI

13—7F+— 1,2,5,10,12,13,3,6,8,9,11,7,4,14

20— — 1,2,5,10,3,12,6,13,8,9,11,7,4,14

BEIES /S 1,2,3,(5,10),9,12,6,8,7,13,11,4,14

40—F— 1,(2,3),10,9,12,5,6,7,8,4,13,11,14

0 ILRE

BB 6 380 JA R 6-7 350MH AR 4-5 6804 3ER 6-7-10 4,330

B B 6 1604 6-10 1,350M4 (=] 4-5 1,040 3Es 6-7-10 14,810
7 160/ 7-10 1,230 5 & 6-7 750
10 440/ =51 6-7 1,230

ABIC OV TRUTEREERRODDZE. THRIIZEL.




